[=c]
=
[’
=
a
=
@
R0
(72}
5]
S
S
5]
=3
c
=
7

766

Rolled Ball Screws Standard Nut (Shaft Dia. 25: Lead 5, 10, 25)

Accuracy Grade C7,G10

Rolled Ball Screws Standard Nut = e T
(Shaft Dia. 25: Lead 5, 10, 25) — Nut Type ype A y| Shaft | .. Crew(ona 0
Accuracy Grade C7, C10 Standard Configtfrable Grade DI Material | Hardness | (SU2C€ | Material | Hardness TrSurface
— _ (0] Phosphate
BSST e 510 Induction Conversion Coating
1055 Carburized ——————
Standard 25 Carbon Hardened | phosphate JIS 5662
Nut | BSSR BSSRK c10 51005 Steel 56-62 | Conversion | SCM420 | e Low Temp.
, 10, HRC min. | Coating Black Chrome
mm BSSZ BSSZK —

BSST2505, BSSR (K) 2505, BSSZ (K) 2505
40

b
oS 58 30 10 *Included Collar
o s
= @ =l x— 35 055 _ Material: 1045 Carbon Steel .
R 0.3 or less S F= RO.3o0rless < g Surface Treatment: Black Oxide
_ © o o
1 - Y *Included Collar & _—
== /| O = . s . = P |Tolerance
g3 I L | 0
°e ! - 10
i l i } /// ! | -0.009
I : -
= ! s‘\/J T N\~ collr |20 115 | 0
c05(C05 o1 % C0.5|c05 _
135 0 2seal L X~
15.35 *§" R B 16 455 Through
18 Y (Nut Motion Range) 20 53 F O\ _M20x1.0 M6x1.0 Depth 6 (Qil Inlet)
L Arrow View X-X

BSST2510, BSSR (K) 2510, BSSZ (K) 2510
92

=8 e 7 _15 0 300
- = ) *Included Collar
s 2 ] x - g8 078 = Material: 1045 Carbon Steel
RO.3orless = | - Ro.3orless = - - Surface Treatment: Black Oxide
1 - L I I o *Included Collar &
. I | ) |l S B s s —_—
88 ! /7 | P Tolerance
= I |l | . R - ]
g I Vaamx 1 N | 0009
U= ‘T‘tr \ * Collar |20 11-15 0
co5||C05 'MT C05(co5 _ -0.011
+0.14 f | =
135 0 2-Seal Ll X
15.35 *§" »L 1 4-9 Through
18 Y (Nut Motion Range) 20 53 F O\ M20x1.0 M6x1.0 Depth 6 (0l Inlet)
L Arrow View X-X
BSST2525, BSSR (K) 2525, BSSZ (K) 2525
9%
=3 o 84 12 30 30°
=) T | - - *Included Collar
= = ——] x 8g 5ol 3 jal:
R0.3 or less 2 E=" T Rosoriess 55 060 g1 g‘ar‘f‘;"a';r1 04t5 Cartboar; SLEZ' y
_ 0 . o8 urface Treatment: Black Oxide
. | 1 A g / ] g o Included Collar &[S
E I vl | \ < B = __P_[folerance
g f | | ! = ) 10| o0
I -U.|
= ! | T \ * Collar \ |20 I o |
co5||co5 ot % C05(c05 11-15 0.011
+0. -0.!
1.35 o 2-geal L] X = _—
1535 *3" »Lﬁ 16 4-6.6 Through
18 Y (Nut Motion Range) 20 53 F_\_M20x1.0 M6x1.0 Depth 6 (Oil Inlet)
L Arrow View X-X
Nut | A y Part Number 1mm Y Ball Ball Screw | Number Basic Load Rating Axial | Twisting
Type Grade Type Screw Shaft 0.D. | Lead L *F *p Dia. |Center Dia.| Root Dia. |of Circuits| ¢ (Dynamic) kN | Co (Static) kN Play Direction
C7 BSST 0.03 or Less
BSSR 27 15 L-118 25Tums
c10 gggéK 05 |200-2000 3.175 25.8 (21.8) 1 Row 6.6 18.7 010 or Less
BSSZK 27-45 [10-15] L-(91+F)
c7 BSST 0.07 or Less
Standard BSSR 27 15 L-118 .
Nut BSSZ %5 10 {300-2000 635 | 268 | (203 |221mS 275 76.3 pot
BSSRK 2 Rows 0.20 or Less
27-45 |10-15 L-(91+F)
BSSZK
C10
BSSR
BSSZ 27 15 L-118 2.5 Tumns
I Rceprw | 25 |300-2000 3.969 25.8 (21.5) ; 9.3 22.7 0.12 or Less
BSSRK 27-45 [10-15| L-@1+F) ey
BSSZK
*F and P are configurable for BSSRK and BSSZK only. @ F<Px3. kgf=Nx0.101972
¥ MiSUMi
, . . .
1 1 There’s more on the web: misumiusa.com

Rolled Ball Screws Standard Nut (Shaft Dia. 25: Lead 5, 10, 25)

Accuracy Grade G7, C10, continued

Example @ BSSR2525L - 370 LType Greased 0] Mounting surface of BSST ball nut flange is not surface-treated.
@ BSSR2505G - 370 GType Greased O Filled with lithium soap based grease (Alvania Grease S2 made by Showa Shell Sekiyu K.K).
O various grease options are available. For specifications, P.752.
O For accuracy of Ball Screws, see P.752-754.
O For details of Support Units, see P.792-802.

O Caution: Do not remove any nuts from their screw shafts or allow nuts to overrun the stroke.
It may cause the balls to fall out or damage the ball recirculation parts.

@ Included Collar is packaged together with main body of Ball Screws.
Store this Included Collar with care. It is required when mating with Support Units.

@ Do not tilt the ball screw assembly. Due to its weight, the nut may rotate off of the shaft.

| Part Number - Note:
4

| Part Number L d-Lef-[e ] oo
‘ -

Alterations  gsgposos - 700 RLC
Alterations Code Spec. Alterations Code Spec.
No MaEch(ijning on Support Side No machining added on the support side shaft end. Wrench Flats on Fixed Side Adds wrench flats on the fixed side shaft end.
n

Shai Ordering Code: NC Ordering Code: SZC
ne I szc | O Ball bearings will fall out f the ball
18-

L o Tml7 nut crosses the wrench flats.
0.15 | (27)

Ball Nut Orientation Reversed Changes the nut direction. Incomplete Hardened Area

Supprt Side) Fiot i) Ordering Code: RLC Keyway on Fixed Side Shaft End Adds a keyway on the fixed side shaft end.

Detailed Kenway Dimensions, KC = 1 mm Increment
Standard RLC See P.752
. Ordering Code: KC10

cnangedmé]:@: % O KC | @ sekc<Prs KesF-1
KC

No Retaining Ring Groove on Retaining ring groove in not machined
Support Side Shaft End on the support side shaft end.
RNC Ordering Code: RNC Keyway on Fixed Side Shaft End Adds a keyway at a customer specified area on the
@ o N i i fixed side shaft end. (Key groove dim. is the same
O Combination with FC is not available. as KC)
= KLC | k 5 = 1mm Increment
Change Support Side Shaft End Changes the machining on the support side. K . S Ordering Code: KLC-K20-S3
Machining Qs selectable from 10, 12, 15, 20. O 6K+S<Px3 K+S<F-1
G =1 mm Increment h R - ) .
= E GC | Ordering Code: GG-Q10-G20 Flat Machined on Fixed Side Shaft End Adds a flat on the fixed side shaft end.
S o O SC =1 mm Increment
CH; 5<6=0x3 Ordering Code: SC:
Y dimension is shortened. SC .“ﬂ S¢ A

O 5<5C<Px3 SC<F-1

Change Support Side Shaft Changes the length of the support side shaft end.
End Length FC=1 I it

= - e 2 Flat Machined on Fixed Side Adds two flats on the fixed side shaft end.

= FC | © 1ocrcso SEfiETE SWC: 90° Position SGC: 120° Position
E‘ } Oy dimension is shortened. SWC  SGC SWC | 1 mm Increment
= @ SGC | Ordering Code: SWC10
Tapped Hole on Support Side Adds a tapped hole on the support side shaft end. % —9( o 5<SWC, SGC<Px3 SWC, SGC<F-1
Shaft End MC = 1 mm Increment S35 051_J05
EX:E reringlCodeutas Installing Special Temporary Shaft Special Temporary Shaft used for installing
|15.35 MC ] 4 Ball Screw Nut. Always use Special Temporary Shaft
MC M8 x1.25] 20 when removing or installing Ball Screw Nut.

TAS
© 28<MC<60 O dimension is shortened.

Screw Shaft

Peripherals: combination of the following parts are available.

< Q\ Nut Bracket
’ .' % Support Units Fixed Side
=P 2 ® >

Support Units Support Side

Support Units (Square) Support Units (Round) Nut Brackets (Block Type)
Combination with Support Units Combination with Nut Brackets
Ball Screw Part Number Recommended Support Units Ball Screw Part Number Recommended Nut Brackets
Screw Shaft] Part Number Sunport Screw Part Number
Type Outer Lead Shape [Fixed Side| °UPRO! Page Type Lead Page
Diameter Type No. Side Shaft 0.D. Type No.
BRW | 20 o — 800 BSST 05 BNFB 2505R 810
BSST 05 Round BNFM
BUR 20 — o 802 BSSR 25 10 2510R 810
BSSR 25 10 BSSZ BNFR
BSSZ 20 BSW 20 Square ] — 794 25 BNFA 2525R 810
BUN | 20 Type — o 798
O Aside from the part numbers shown above, there are a variety of other Support Units available.
(P.792-802).

O Combination of BSST251 0, BSSR2510 and BSSZ2510 Ball Screws with BSW20 Support Unit may cause
the nut to come in contact with the bottom surfaces.

Check out misumiusa.com for the most current pricing and lead time.

2
=
=]
b=
]
=3
=
S
(7]
o3
»
8
B
S
n
©
(==}

767



